Cw 1 )mey/B‘me\/ \Io.’\'m.‘"CS

3 l—""ﬂ’d“/ / dvmm\/ w\Je P VRt S

4 o -
t'mde/e,w brade /0"‘“ f""bfsf(
Pe"f.o'rwav\ e_ Q%“emwt preforonces
Nage wavih.\ wor k etlmc)

5’:o»|:us Uel\ml)u“‘l\{



S.m%la JUW\W\\/ VvV A% QEI&

p—

‘j = Fo + 50 x + W
L o/l andrcobr

E (ylw) = Pot bz

effect of x =1
_ rel L. X =0
= 50 = E(‘S\X”S ) t(‘j\l—o> (base /ve foromse
po . 1)



by g

= W Ch _
%Cwqw Waxe Y
ol W gTY €% = 1 F‘? .

o F"r- 'ncl'_"
] YWATY

b'—Fu‘kF‘xl'l'go 22-4_ UL
L o/‘ bivary adicaly

‘F Y = woge
E(‘ﬁ\x-,1> - Fo-‘— F‘7,+ d/o'x?- x, edauc.

80 - E (%lxl’21=l> IR E/\jlz')zz.=9 7‘1_:)'“‘:‘:?“
ATy

eéfvcl' .,{ %yl ye!

s/ et e
?\'O‘\APF (< o “ o a_(‘ke’v_ C"t‘ﬁ‘l‘:":;?_




'k'_"' 23'—‘

Né‘:f 2- %' OVPS dedk ed bj S.q,\s,,e dUdev\s/
x, — ! wet Y % | %
0 WA ATT ; ( cla
nob 2egd X, G4 A, o€ Yev{lecklv collimear
[ duoemy vt Evar) )
e‘; So =0 26
= 26 /
Ty log (wage) N
O \
GLPPTN'MJ‘C— e#rai" o.(:' Zz;l |10 50 /

Exﬁct “ ~l00 [pr(c/f\,,\ _3 / :=-> 2147 /



|"’\ull:|P’e Cﬁki&\"fs

M — | (wa'v‘ne.c’)
O < vt )
W — 1 (westem wegnav\)

O(Y\o{ “ )

_> chase i Qas base/w«-ﬁorw((_ I

Z\ Gp'oups
ineclude duwmmirs for Ehe Twest






N A
91 {S\¢=272- 6."‘3 CSL:O,OL
. b2 1L
Eflect of wravy b eslern rel b base s

‘e

L vek

Tt evacthinms Ow"W“a duw\my VaTS

—

= po tPE T 6nM 4—5ww +5MWM*W + W

N

, p M:0,w =0
Rae [vef{ereve Gvoup ) \ iffek of M -0 &

w:l vel b bease
Effect of Meikw=l e St & .

rel b base
g Ml kx w0 S



ware k wesk rel b base

L 4

warty & mol west

-
—

i

¢ 92 7L



l\\lgw.\,.i {m« JL[,{‘ s'oer

"3=—F0+F'2‘+50M4—5'M'x' + W

f

Y wWa§e
p educ
M - l
0
=0 46
= QO 33%

\

- S!epe
‘ _'“{‘QYCPrt F? edve
wWRTY Mﬁ.‘l’\' P-""'JO P -+ Sl
rek "
N’t '
W A¥Y Pa F
>ff s, 1§




